5.4:  The derivative of y=tan (x)

If f(x) = tan (x)    then f’(x) = sec2 (x)

If g(x) = tan (g(x))  then g’(x) = sec2(g(x))∙ g’(x)
Prove that the derivative of tan(x) is sec2(x) by writing tan(x) in terms of sin and cos and then using the quotient rule.
If f(x) = tan(x)  = sin(x)/cos(x), then f’(x) =

1. Determine the derivative of the following:

a)  y = tan(4x)

b)   y = 2tan(x3 + 2x) 


c) y = x2 · tax(-6 x)  (use product rule)
d) y =  y = (cosx + tanx)5



e) tan(2x+5)/  36x+ 2  

2. Complete Examples 2-4 in the textbook starting on page 258

3. Homework: pg 259 #1-6, 8
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